ECONOMIC
Paper - I1 (b) (Application of Methematics td- Economics)

Time allowed : Three hours “Maximum Marks : 100
Part-A .

Maximization of Utility. ST SifeEamyor |
Compensated Demand Function. &RGRT 917 Ber |
Static Multiplier. ¥ ToF | .
Pivoting. faafém| ‘
Rate of Technical Substitution \T®-1e Yy g
Linear Homogeneous. V&G & ™Y |
Consumer Surplus. SUsiawd! = | y

ZeroSum Game. Y A1 G |
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Saddle Point solution. ¥sat g &1 |
Acceleration Coefficient. ©X& 0T |

Part-B

Determine wether the utility function U = ¢7g, is regular strictly
quasi concave or not.

waEY s ST B U = 4] q, Fafia qoieion sy & a1 18|
.For a given Cobb-Douglas Production function. s |
DA ST G B o gl &

Q = LoaKose -
Where L is Labour and K is capital. Varify Eular's Theorem.
ET L 519 T4 K gl ¥ | sk v g ],

Pay-off Matrix Player A is given. Calculate Pay-off Matrix of Player
B on the Assumption of Zero Sum Game : |

W@Aﬁrwﬁﬁﬁwﬁgﬁ%wﬂm—aﬁﬁma% 3T

u% RIS B B T A Fioien:
‘ 8 10 5
A=|15 4 O
-2 -1 3

What is CES Production Function? CES SR B aa &7

]

If demand function in P = 16 =% supply functions is P=2x+ 1
then find out consumer sifplusand producer surplus when x=3.
If Wi B P =162 % 8, I Per P =2x+1, ¥, 9 SaHERT
£ g9q TE SR H AT T PR FD =3 ]
. Part-C
: Unit-I ‘ _
Determine Price Elasticity of Demand and Marginal Revenue. If
‘ i i dPis Priceand P=3.
—30L4p=p* whenqis quantity an ;
%ﬁﬁmwmmmﬁma&’m,m
Or =
i i _ 795K °5 and price perunit of K
-ven the Production function g=L"K" an i
S::X?Rs 2 andRs 4 respectively and cost of Rs. 80. Determine the

* maximum output subject 1O the cost constrains.

’ i L i TR
SeqreeT e fr gl § g=I*Kk> MKW L |
fﬂﬂm- 2 vﬁ4m§€ram§a-ma 80 TR N AT AE A
e S T AR |
, o Unit-Il .
Explain characteristics of L%Tne;ag’il:[mgaxm'mn,.

. ert the following Primalinto Dual:
T
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Maximum 3iferFaaevor n= 6.X,+7X,

Subject to gt : 2X,+3X, <12
| 2X,+X,<8
‘and 3R : X, 20,X,20

Or

What is Samuelson’s Trade Cycle? If the profitsfunietion of firm is

n-.40r x° —an — 157 +50y and be ma\nmum productlon

c,ap-auty 1§ X+ ) = 6 then calculate the optimum quantity of X and y.
RqEas &1 AR 9% @ 22 afe o &1 @ wad

E=40x—:}-‘—53gv-15y'-’+50y 8 @Y Sf¥rpad SR &l

X+y=6 BNy B JTaHerad ARSI Do |
Unit-HI
Find out from the followmo matrix and final demand: _ -
1 AferT vd iR Wi b R ¥ S BIRA):
(@) The output of gdchisector YAF & BT IUGT

(b) later-Industry Pefand Matrix R—YaRT T ey

0.24,'03/ 0.2 20
A=40Hh 01 02|and C=|10
041403 0.2 12

Or

Wnte short notes on the following : ﬁﬁ%@awmﬁﬁqﬁmﬁlﬁaﬁ
(1) Open and Close Input—Output Model.
el U9 95 FIYC—3ATSeYe Alsa
(ii) Static and Dynamic Input-Output Model.
TTgc—3scyc AiseT
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